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Anabvsis of a half-bridge de—de

mnmnumuﬂduumhﬂ; 1, the ale-

ments O, Lo, and Cp o1 lorge in hl#.ﬂdhnﬂlqip‘hhmhhudpph You moy ssrume thai all

elements are ideal. You may use the simusoldal approximation & appropriste qn\tﬂ'f'
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Hl,.l Heli-bndge pasallel raonant coovener of Problem 1. m::bﬂuﬂn,{'hjmimhm#wm u A

{mh Constrict an aguivakent cirouit for tis convenier, aimilss o Fig 1932, 'll‘lihhmhh'lhﬂﬂﬂﬂl-
menlal compansnts of e tank wavalorms and the de componsnia of the converter input curment
and output voltage. Clearly label the valuss andior give expressiona for all elements in your
mxlel, as appropriae.

At raied (maxinom) loed, this convenes produces =204 8 V=33 Y

il Whas is the convener swilching fresueacy £ ot rated load?

() What jthe magniade of fhe peak Urensistor current el rted loadT

Ar muimreman bosd, the converier prsduces I =2 A F=33Y

{di Whal i the cogverior swiiching frespaency f an minimuam |oad?

() What is the magnitude of the peak translstor curment af mintmism load? Compirs with your

answer from pan

{&}—what happens o the copduction |loss and efficiency af minimum load?
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L 10 pH
i L5 uF
20
V 160 V
13V \/ - 2, '3
1 " iln.ﬁ. A {#f o
Gli=
R= 0.1650Q 1.65 Q """"" 11 - ?\
R,= 0.204 02 2006 0 plle— e sl
Jo= B21.87T1Hz B2)1.BTI H: s
Q= 1.58 1577
j 2 1,031,696 Hz 1,156,025 Hz










